39. Resistance to Change
1. Delete as necessary
Change is a constant in business life. Primarily it occurs because of _________________________ factors such as the business cycle, changing consumer tastes and changing social attitudes. Although that may suggest that resistance is futile, it happens. Workers may encourage their trade union to organise resistance, e.g. by the threat of _________________________ action. Or staff may resist passively, by not cooperating. Therefore managers must convince staff that the proposed changes are desirable or inevitable. Many managers assume that staff ________________________ to change is due to stubbornness and negativity. They should also wonder whether the reaction of staff might be based on some extra understanding or experience.  
Add missing words from this list: resistance, capacity, industrial, corporate, external
2.  Give one reason why:
2.1 Teachers might resist timetable changes brought in by a new Head.
______________________________________________________________________________________
______________________________________________________________________________________

2.2 A Championship-winning football team might resist training methods brought in by a new manager. 
______________________________________________________________________________________
______________________________________________________________________________________

3.  Data response
BJC plc makes engines for tractors. It supplies 2 different manufacturers in Britain and 14 overseas. But its export sales have been falling in recent years. New boss Lara Phelps thinks she knows why. A ‘benchmarking’ exercise shows that BJC is the 11th most efficient out of the 12 European companies being looked at. To her Board of Directors Lara has described the 400 workers as: ‘overweight, under-skilled and all too sloppy’. She is planning huge changes in working practices at BJC. 
	Data on staff performance, BJC plc 
	BJC plc
	Industry average

	Productivity (engines per worker per month)
	15
	25

	% of tasks completed right first time
	84%
	94.5%

	Days off from workplace injury per worker per year
	8
	5


3.1. Explain why the BJC workforce might resist an attempt to increase the productivity of the business.
______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

3.2. The workforce believes the problems at BJC have been caused by ‘lack of investment and autocratic leadership’. Outline why staff are therefore likely to resist Lara’s planned changes.
______________________________________________________________________________________
______________________________________________________________________________________

______________________________________________________________________________________

3.3 Use the data in the table to explain why Lara is right to insist that change is necessary.
______________________________________________________________________________________

______________________________________________________________________________________
______________________________________________________________________________________

39. ANSWERS: Resistance to Change

1. external … industrial … resistance

2.1 If the Head failed to consult with staff, it may be that staff are sure that the Head’s changes will make it harder to teach effectively.
2.2 Players who have just succeeded with ‘old’ training methods are likely to be very resistant to new ones.
3.1 Increasing the productivity up to the average level might mean considerable job losses. They produce 400x15 = 6,000 units a month. If productivity rose to 25, they would only need 6,000/25 = 240 staff, i.e. 160 (40%!) made redundant
3.2. Autocratic leadership suggests that the workforce will not have been involved in any of the decisions or planning; this will make them reluctant, maybe suspicious. The lack of investment may make them feel that they are being blamed for things that are not their fault, e.g. low productivity
3.3 Change is needed because no business can survive long with a vastly inferior record on productivity and product quality. Without change the firm may struggle to survive. Whether it’s the right change is another matter.
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